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Twentieth International Mathematics Contest (Taiwan)
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3% markiz i 4x3=12
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3. Which one is closest to the value of 7.09x5.1? (A)7x5 (B)8x5 (C)8x4 (D)7x6
<fZ$7>

7.09=7

5.1=5

b IT B =5xT 0 i A

4. THFFEF 100 = 11 3EHF § 200 & > 4545 F 143 S o33 IEH I L EH 50
Z92(A)700 (B)800 (C)900 (D)1000

<fE$7>

100+7x14=200

200+11x33=600

200+600=800 - ¥ B -

5. F 7 AAERE - I FHF O RES-F FFEEY B BHRAS M G B AEF
Boo ¥ FAaF WA N2 FREHLE LG S 4 2(A)21(B)22(0)23 (D)24
<fE$7>

12+12-1=23 > £ C o

6. 8 11x22+22x33+33x44+44x55+55%x66=2 (A)8470 (B)8570 (C)8250 (D)8350
<fZ$7>

38 =11x11x2+11x2x 1 1x3+11x3x11x4+11x4x11x5+11x5x11x6
=11x11x2+11x11x6+11x11x12+11x11x20+11x11x30

=121x(2+6+12+20+30)=121x70=8470 > i£ A o
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<fais>

3B H3-6~9~12~15~18~21+24+~27~30~33-36~39-~42-45-48-~51~54~57~60
4z Hcd ~8-12-16~20~24-~28~32~36~40~44~48~52~56~060

5% H5~10~15~20~25~30~35~40~45-~50~55~60

345 B #60

60+7=8....4
EEHT Aiecdx EEH - »F A

Bord £ = ’Dm{ F;i/)é“ P4 e FRR A o8 T AR BRI S Y
(AR 7 % ¥ &2 B)5 i ¥ L5 2 (OF i 0 ¥ L7 % D)5 fii
I Hé'— —E * »%5 19 cm

<fZ$7>

B E=(19+8)x2=54 » 7% £ =(19-4+8+4)x2=54

i f 19x8=152 » %7 7;—*:(19 -4)x(8+4)=15x12=180 8 cm
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9. ho tFLEM > FEMAB G LG - BT A G niF s 100 2 FEME -
GoelcE L0 1 enf P 1B o FA L hL R - BAed) ) e BT fos 310 4
Regp b o BeF L2 e (60 BEPL M BT IoR L 47 Blwe oy S
5387 (A)1 (B)2 (C)3 (D)4

#F 2 £(10,0)2 (9, 1)

A5 BeF=1> 0 (5 hlcF =9 & EMPH 4 9-1=8
FH w T 0 fem ;9mﬂ(_} 1() ) .455.:14%:&%4‘: 10-0=10
Visds 0 10 HF e B

47-31=16

16+8=2 » At s chsk dic( M & #cF =1) > i B -

10. 3 % 7 & cifde s 1A Kl LR
W43 E 5 % 5 ek feen3 &> &

<ﬁ’z,=’v}fr>

FR=FF+1+5 F+1

FRH=%F+5F+5 5 —> BRE=FF+F F+F F-1

P FH1+F FH=F F+F F+5 F-1

F %=3, B B=3+1+3+1=8 4p £ 8-3=5> % C »
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1. ¥4 94
% %0 42 (A)140 (B)145 (C)180 (D)200

#2348
<fE$7>
360°-180°-90°-45°=45"°

45 oA
IIZOX%—MO A

12 EEeeMagR =53 10 ~ > BAHF 3 BIET LRI FFEL£200~ > K F ¥
SRR F] S FLACR? (A)27 (B)28 (C)29 (D)30

<f#{7>
PEE & R T LE
200+10=20 20 20
20+3=6...2 6 6+2=8
8+3=2...2 2 242
4:3=1...1 1 1+1

B % 20+6+2+1=29 5y » £ C o

13. What is the sum of all the numbers of natural numbers 1, 2, 3, ...,9998, 99997 (ex. The sum
of 37 numbers is 3+7=10) (A)18000 (B)180000 (C)36000 (D)360000
<fE7>

0.1,2,3,4,5,6,........ 9996 9997 9998 9999 #c% fr
L 36 ]
\ 36 /
36
3 fr=36“2°°°°=180000 , B o

14. 4o+ Bl > $ %5 B3 > 352 (A)25 (B)26 (C)27 (D)28
<jaie>

= A5(1)=17

I = A5(4)=8

I = A5(9)=2

£ 4 17+8+2=27 i » % C

15.7 7 & Ml 30 — Fnb %o B kT E O BT T
?

4 6 9 1 8
13 17 15 23 7 21
(A)3 (B)S (C)9 (D)6
<fE$7>
4x2+5=13
6x2+5=17
9x2+5=23

[Ix2+5=15>[]=5> E B e
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(A)18 (B)19 (C)20 (D)21
<fZ47>
oAy £ OxC=81- =9
Feth 25 0% - (915X J:2=144 » =12
Al S=9+12=21: % D

17. &% Z #3100 ~ 200 ~ 300 ~ 400 ~ 500 ~ 600 4& » — &= T £ Hcis » 5 2R

RR e AT AR (A)IL(B)26 (C)31 (D)5
<ﬁzﬁ>
£=200-100=100 > ¢ £ e =

ptn—l‘2 ~4-~5~10~20~25~50~100
Pl n=1 > £=100 > #>|=100 ~ 200 ~ 300 ~ 400 ~ 500 ~ 600 (6 &)

‘w\

N

f‘m

»

o
AN
—

Pl n=2 > £=50> #7|=100 ~ 150 ~ 200 ~ 250 ~ 300 ~ 350 ~ 400 ~ 450 ~ 500 ~ 550 ~ 600(6+5x1=11 3%)
Pl n=4 > =25 #7|=100 ~ 125 ~ 150 ~ 175 ~ 200 ~ 225 ~ 250 ~ 275 ~ 300 ~ 325 ~ 350 ~ 375 ~ 400 ~

425 ~ 450 ~ 475 ~ 500 ~ 525 ~ 550 ~ 575 ~ 600(6+5x3=21 7¥)
e &m

P =20 » #F]=100 ~ 120 ~ ~ ~ ~ (6+5x4=26 %)

7 (=10 > #5]=100 ~ 110 ~ ~ ~ ~ (6+5x9=51 7¥)
Bl n=20 > £=5 #5|=100 ~ 105 + ~ ~ ~ (6+5x19=101 77 )
Bl n=25» £=4 > #5]=100 ~ 105~ ~ ~ ~ (6+5x24=126 7 )
Pl n=50 > £=2 #5|=100 ~ 102 ~ ~ ~ ~ (6+5x49=251 77 )
Pl n=100 » =1 #5]=100 ~ 101 ~ ~ ~ ~ (6+5x99=501 77 )
2T A3 EEC

18. F » Bl F+f o Hier BlhT ohdbol FHAn L )

<ﬁ;’ﬁ>

ol HEc13-5-7-9~11
H T 32e=(1+3+5+7+9+11)+6=36+6=6
6-1=5> % B -

19. A

7 (A)4 (B)5 (C)6 (D)7

REBARE FGRiT- BEGIESB L2 2 £352(A)14 (B)I5 ()16 (D)17

<jZ{7>
356>9—>12> #E 5 1> 8= &2508E 53
T - BB EE=1213=15F B

c A A EG ER)
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20. F 7~ Az B 2 fom A 150 B Y - i 4.8
Y HF 5 A  fok T E ~ vREECE 2 (A)4 (B)6 (C)3 (D)9
<f#17

v
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21. The figure on the right is composed of 6 semicircle arcs (& [f]5%)

and 6 i arcs(®). If the diameter is 3, what is the area of the gray
part in square units? (A)9 7 (B)27 (C)30 (D)12 7

<fE{7>

:Lz_gg]n;éﬂ © L7 7‘@%92;
o 7}%23><5x6—27 # B

22.% & n Pk nl=nx(n-1)x(n-2)x(n-3)x--+--- x3x2x1 » G4 41=4x3x2x1 > B x!=6!x7! > R
x=? (A)13 (B)9 (C)10 (D)42

<fz5>

xX1=T1x6x5x4x3x2x1=7!x8x9x10=10! > R x=10

ECo

2 2? Lg% Mk TE & L ae

23,85 252252275227 L I H ST E A 10001999 (23=2x2x2=8)
(A)4 (B)5 (C)101 (D)1001
<ﬁzv}fr>
@10001000:(103)1000
@ a1=2

ay=22=2x2=4

a=22°=2=16

as=2=216=210x26=1024x64=65536

a5:2a4:265536:(210)6553X26:10246553X26>(103)6553X64>(103)1000
=% 53 EBe
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24. Refer to the diagram, the area of quadrilateral ABCD is 120 square . E
units, ED=2AE, BF=2FC. G and H are midpoints of BE and DF,
respectively. What is the area of the shaded quadrilateal EGFH? (A)30 4
(B)35 (C)40 (D)60 5 C
<fai5>
Qw #3) EBFD=2(x+y)
2 835 ABCD=3(x+y)
— 1§17 EBFD=2xw 7 ABCD=2x120-80
@w 2, EGFH=a+b
v 1§35 EBFD=2(a+b)
— 1 7] EGFH=xw ) EBFD=-x80=40
ECo
2540+ 2475 o o b B BR - TARER ] FRA L FIBl
Bed s ] FIAOF 20 BEcE P2 (A)599 (B)699 (C)799 (D)899
<izfe> 49 |€D| 53|55 |57 |59 6l
37~19~31~51~71~99~ 127~ 163 ~ 199 47| 17 2123|2563
=1 4515 1 [®)] 5 |27]65
as=71+12x2 431311 ] 9 [(@D]29]67
ae=T+12x2+20%2
as=T+12x2+20x2+28x2=7+2x(12+20+28) 41139137135 |33 | D) 69
a1=T+12x2+20x2+28x2+36x2=T+2x(12+20+28+36) K@)

a0=T+2x(12420428+. . +bo)=7+2x I EE7..05(24+.64)=7+792=799
i# Co
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1. g{ﬁ%’?i&{]‘\ﬁ’i ’ i—l—_g’l‘%}]\ i;EIT: rx 1~6 > = ﬂ}:ﬁ_ S ﬁ: 5;]}{ 2%3 _}g ﬁ%g*élj\ mg;:i ;p,g% ﬁ‘

i
<fZ$7>
512161341
4131|526
6/1/2|4|5|3
345|612
2/6|4)1/3|5
1153|264
LAEEHY I RES A
FSHIRELLA  £3 204
21 & 2 E L 25 & (5120)

AR AL EETRY T SRRV SRR - 5172
<fZ47>
B3~ 2w REDBRAR G 6 /) B0 PR Y REDERAR 5 Ox(1+-)=7
14+7=2...... Paed_ 1 ] B 2404
10+2=5....10 » &P 4L ¥ ™ 4_5 /] B
A 104440 61 B LS 1 B
12x10=120
120x7=840
<¥ jz>

KIPRF A4 a2t 42 F0kA atl2 2 ¢
142=10(a+12)x(1+3)
84a=(10a+120)x7

84a=70a+840
14a=840 > a=60 > [7 1§, =14x60=840
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